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1)When the state economy develops, it transforms from being an agrarian economy to  which type 
economy ? 
Ans : Industrial economy 
 
2) At the take off stage of economic development, which sector grows faster than even industrial 
sector ? 
Ans : Service Sector  
 
3) The composition of Service Sector includes mainly which sub-sectors ? 
a) Trade, Hotels 
b)Transport, Communication 
c)Banking, Insurance, Real Estate  
d) All the above  
Ans : d 
 
4) The Service Sector recorded a strong annual growh rate of more than ______ % in the last decade ( 
i.e., upto 2010 ). 
Ans : 9% 
 
5)With an impressive anticipated share of ________ % of State GDP  in real terms  in 2014-15, Services 
Sector continues to be the leading sector in the Telangana Economy . (data upto 2015) 
Ans : 57.1%   
 
6)Where Government of Telangana set up an Institute of Innovation ? 
Ans : T-Hub at IIIT Campus , Gachibowli, Hyderabad 
 
7)Who declared establishment of ITIR in Hyderabad? 
Ans : Government of India  
 
8)What are the benefits of ITIR (Information Technology Investment Region ) ? 
Ans )Direct revenues to the tune of Rs.3,10,849 Crores (data upto 2015)  
 
9)It was expected that IT exports of Rs.2,35,000 Crores  could provide employment of how much ? (data 
upto 2015) 
Ans : An estimated direct employment to the tune of 15 lakhs and indirect employment about 53 lakhs 
 
10) Government of Telangana proposed to set up a Wi.Fi Facility in Hyderabad to improve which of the 
following ?   



a)Communication System 
b)Governance 
c)Efficiency  
d) All the above 
Ans : d 
 
11)As a first step Telangana Government introduced free Wi.Fi facility where  in April, 2015 ?  
Ans : Around Hussain Sagar, Hyderabad 
 
12)Telangana State Government is in the process of developing industrial parks at different place for 
specific groups of industries. Which of the following is correct ? 
a)HI TECH city : for software units 
b)Apparel Park : at Gundla Pochampalli, Hyderabad 
c)Export Promotion Park : at Pashamylaram, Hyderabad  
d) All the above 
Ans : d 
 
13)Where Bio-Technology park was proposed ? (data upto 2015)  
Ans : Turkapally 
 
14) Where Textile Park was proposed  ? (data upto 2015) 
Ans : Sircilla (Karimnagar district ) 


